[SEE EXEH/L—R—ILER FHEEXEE

R8PS > FEBY e ] = ERFY & NERFY
A | B S = 13l =| (e = 1ol S| S = 13l | (e = 1ol
5 7 [EBERWF BINER 345 FELLFF MRATEE A=A FiE BE
14 |THRAR—YER mRAREE
28 |EBFIEER /N EFFh 28 |4 B—NA(BX
6 3 |FITT7RY—IEE TMRAEE | 10 [EBEEW E gt
3 |FyTT7AR)—FEE MRARE | X |FaXER mRAE
34 [VEAREERE HE 5 H
VEMREERE DERA
7 9 |BERBRHEBEEEREN 2 |hAEXRE R
R/ Mt 8
9 [EBERWF B mRIK
8 6 |HRRAKR—YR mMRAFEE 10
27 |HABFER(ZF) mARE 16 [EBESRF K mRIK
17
9 * |REPEFIE
16 |HEFABEF) MRAREE
X |—FEXE
10 | 22 |41 EEEHFFHER R/
9 [RAR—YDBRKRDERE) *x |ETHERE mRIAE
14 |[{KR#F mRAE 28 |EHAEFE
11 23 |[—EEXS mAfE 3 |[2BXRETFE BE 5 [EBERWF TRABEE
(FREEDER)
10 [FU—L#F MRIAGEE
12 | 18 |DEFDELN mRG x |[EEM(ETF) 2SS 28 |Z AWM (XF) BE
(RIRDF ) 29
1 21 |/ ALb—HR—ILE mRAE
13 |ERERET AEL BE
13 [E28EI/NhRER mRAF 13 |FE27E/NpREE mRAE
2 17 |[HRAR—YE mRIAE 3 |HAHEXRS B
4 |+FEH AN
3 9 [RTUVT Z)IIB&G 25 |ZAMEF) mERAB




